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Cattle is Muedes — NIV RN

OVERVIEW

The mwn begins 121 N727 ,7912°7 7772 12w N7V 2307 7¥°2. There are two ways of
understanding the phrase of 72777 191 7%°2. It can be a question and answer; 7%°2
Ny 2377, and the answer is 7217°7 772 Nawh. If we assume this interpretation
then N7 72727 1s a new phrase (and it could be written with a 1", as 71272
121 n7vIn). However we can understand the entire phrase of n7vin 121 7¥°3 as being
a question; how is 71219°77 7172 72wWY N7¥M 37, and the answer is 121 N7vw anaan. In
this case 7n27 cannot be written with a "', as ni2m).

- Y1929 591 1793 11NN DINT N

Some text read '77727' with a v''%; and this is the explanation of the mwn; it asks -
- W %23 X902 19) ANNTYN XY NN T97 W1 1NN 797 1aWY 9391 ARTYN 1959

‘How is 931 a 7v™’, and answers 731 is a 79 to break things as it walks’;
meaning the Tv» status of 931 is by breaking things while it walks. And
similarly in the X9°0 regarding @ the explanation of that 71wn is the same.

mooIn disagrees with this X073 (and this interpretation):
- >N 993 NNIY NYY IND YWTIN NN DAY 199399 AWp Yax

However the °'"'9 has a difficulty with this interpretation; for what novelty is
there in this 71wn which was not already taught in the first pas?!

mooIn offers his Xo7°2 and interpretation:
- YWY9%0 %9 “yra 19°09) NDT PNY 13929Y N9

And it is the view of the "' that the text does not read 1»327 with a v''. And

this is the explanation of the mwn»; -
- 999 T NPNAN (3,00 91 RNP DI YIRY "N TIT 9aWY DTN 5190 1895

' See 7awh "7 *"wA, who interprets the 73w this way (even though he is not An72m 03 with a 1").

?2,0> 97. The mawn there states 'MpPa" M0 Y1982 N7 mmaA[1] 72 “IRIT DX 91989 N7 Jwi 782", The interpretation

there would be the same as here (according to this X07°3). The question is n7¥17 Wi 7%°2, the answer is X777 DX 71987

2, then the mwn continues 151 N7v11 7272M as a new (and independent) phrase.

* In the first P15 the mIwn states 7919°7 7172 MW N7 2377, This 7wn asks NTYM 9377 783 and answers 7172 72WwY

719177, the exact same words as in the previous mwn. Why is this 71wn repeating what was already taught?!

* It is possible not be o3 a (mmam) 1" and still understand the 73w» as previously explained (see footnote # 1).

However we cannot accept the s""7 explanation (that 71727 is the beginning of the answer) if we are 7n72M 0N

with a ™.

> According to Mmoo the entire phrase 7217°7 7772 12wH DTV 937 T3 is the question; the mwn is seeking
1
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The m1wn asks 7721957 777 22w n7wn 237 7395, which was taught in the first pas?
The answer is nTYM™ 72mam, ete.’

mMooIN responds to an anticipated difficulty:’
— 19N 13991 D39 1397 999Y NI P27 DIPN Do)

And nevertheless the X223 properly questions; 572772 13997 39 1197 -
FTANR Y9N NIV NNNANY NIV DIINY
Since n7v1 Y377 and n7Y A is the same thing!®

SUMMARY
The question of the 7awn is 72171 7172 N2WY N7 2A77 7800 the answer is  7n7a7
21 N7, We are i 073 not manam.

THINKING IT OVER

According to moon, the mawn first questions, 721277 717 12awWH NIV 2300 78D, and
then answers, 22w91 719772 7212 N7 72027, The X3 asks a2 127 %30 117 and
answers M7210 21np1 mMax xan.” This would seemingly indicate that N7y 2377 7%°5 is
the ax, and "21 n7vm On727 is the 77910; but according to MooIN we are discussing
the same thing; 931 is the question and 11727 is the answer; how can this be two
separate items; one an X and the other a 7791n?!"°

clarification for what was said in the first P39 the 721%°77 7772 92w5 n7v11 93777, The answer is 79772 72772 D7y 9720
121 as the 71wn continues.
® The answer is that 931 is a 7y only if it damages while it is walking naturally 22w 719772 727> (but not if it
damaged by kicking, etc.).
7 The X33 asks on the '2 Ty that 772 1177 31 1A, According to *"w19 that 7212°7 7772 72wY is the answer, and the
TJwn by saying 21 N7y onaan is (seemingly) giving another answer, the question is understood; the mawn is
repeating itself; 712127 7772 72wH nTYM 2377 and 2w 73770 7900 NI ARnaT; it is anna wn 930 un. However
according to Moo the 73177 7172 121 YA 7Y is a question and 31 NTYM MRA7 is the answer, what is the X3
asking; there is one question and one answer?! m»on replies.
¥ Moo may mean that the question of the X3 is why write "21 n79M 2R 21 2377 78°3; the mwn should have
written 72w 73773 7207 ,7219°7 7172 12wWY DY 2A07 T80 omitting the words N7y a7 (see 2"nn). Alternately
the nmawn should have kept the same syntax throughout; N7 93771 121 2317 7¥°3 why change from 231 to 7272 when
7m0 930100, [The ®n3 answered that the 7awn is also teaching the m72n. Not only is one liable for a3 if it
trampled with its feet but even if it damaged with its body while it was walking, the owner is also liable. (See
‘Thinking it over’.)]
? See footnote # 9 [in the brackets].
19 See X"awn and (59 73 11"72) X MR AT oY M.
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